
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Primfaktorzerlegung der 3­stelligen Zahl

576 320

224 378

315 432

384 504

180 280
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Primfaktorzerlegung der 3­stelligen Zahl

576

= 2 × 2 × 2 × 2 × 2 × 2 × 3 × 3

320

= 2 × 2 × 2 × 2 × 2 × 2 × 5

224

= 2 × 2 × 2 × 2 × 2 × 7

378

= 2 × 3 × 3 × 3 × 7

315

= 3 × 3 × 5 × 7

432

= 2 × 2 × 2 × 2 × 3 × 3 × 3

384

= 2 × 2 × 2 × 2 × 2 × 2 × 2 × 3

504

= 2 × 2 × 2 × 3 × 3 × 7

180

= 2 × 2 × 3 × 3 × 5

280

= 2 × 2 × 2 × 5 × 7
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